

1.

$$\lim_{n \rightarrow \infty} \frac{(n+1)(n+2)(n+3)}{n^4+1} = \lim_{n \rightarrow \infty} \frac{n^3+6n^2+11n+6}{n^4+1} \stackrel{n^4}{=} \frac{0}{1} = 0$$

2.

$$\lim_{n \rightarrow \infty} \frac{n+2n^2+n^3}{(n+1)^3+(n+2)^2+(n+3)} = \lim_{n \rightarrow \infty} \frac{n+2n^2+n^3}{n^3+4n^2+8n+8} \stackrel{n^3}{=} \frac{1}{1} = 1$$

3.

$$\lim_{n \rightarrow \infty} \sqrt{\frac{n+\sqrt{n^2+\sqrt{n^4+1}}}{n+1}} \stackrel{\sqrt{n}}{=} \frac{\sqrt{1+\sqrt{1+\sqrt{1}}}}{\sqrt{1}} = \sqrt{1+\sqrt{2}}$$

4.

$$\text{UP: } \lim_{n \rightarrow \infty} a_n = 0, \lim_{n \rightarrow \infty} b_n = 0, \lim_{n \rightarrow \infty} \frac{a_n}{b_n} = 0$$

$$a_n = \frac{1}{n}, b_n = \frac{1}{n^2} \Rightarrow \frac{a_n}{b_n} = \frac{\frac{1}{n}}{\frac{1}{n^2}} = n$$

5.

$$(-1)^n \frac{n}{n+1}$$

$$n = 2k, k \in \mathbb{N} : \lim_{k \rightarrow \infty} (-1)^{2k} \frac{2k}{2k+1} = \lim_{k \rightarrow \infty} \frac{2k}{2k+1} = 1$$

$$n = 2k+1, k \in \mathbb{N}_0 : \lim_{k \rightarrow \infty} (-1)^{2k+1} \frac{2k+1}{2k+2} = \lim_{k \rightarrow \infty} -\frac{2k+1}{2k+2} = -1$$

$$\limsup_{n \rightarrow \infty} (-1)^n \frac{n}{n+1} = 1$$

$$\liminf_{n \rightarrow \infty} (-1)^n \frac{n}{n+1} = -1$$

6.

$$\frac{(-1)^n}{n} + \frac{1+(-1)^n}{2}$$

$$n = 2k, k \in \mathbb{N} : \lim_{k \rightarrow \infty} \left[\frac{(-1)^{2k}}{2k} + \frac{1+(-1)^{2k}}{2} \right] = \left\| \frac{1}{\infty} + \frac{1+1}{2} \right\| = 1$$

$$n = 2k+1, k \in \mathbb{N}_0 : \lim_{k \rightarrow \infty} \left[\frac{(-1)^{2k+1}}{2k+1} + \frac{1+(-1)^{2k+1}}{2} \right] = \left\| \frac{-1}{\infty} + \frac{1-1}{2} \right\| = 0$$

$$\limsup_{n \rightarrow \infty} \left[\frac{(-1)^n}{n} + \frac{1+(-1)^n}{2} \right] = 1$$

$$\liminf_{n \rightarrow \infty} \left[\frac{(-1)^n}{n} + \frac{1+(-1)^n}{2} \right] = 0$$